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Libby Chapter 9
Reporting and Interpreting Liabilities
Instructor Comments

Introduction

This chapter discusses both short-term (current) and long-term (noncurrent) liabilities.

Short-Term Liabilities

· Accounts Payable (amounts owed to trade creditors for purchases on account)

· Accrued Liabilities (expenses that have been incurred but have not been paid at the end of an accounting period.)

· Income taxes
· Warranties

· Payroll-related (e.g., accrued wages payable, accrued bonuses payable, FICA payable, unemployment taxes payable)
· Other year-end accruals (e.g., utilities expense payable, interest payable)

· Notes Payable (due within one year)

· Current Portion of Long-Term Debt (portion of long-term debt due within one year)

· Deferred (Unearned) Revenues (cash received before revenue earned)

· Contingent Liabilities

· Recorded if probably and estimable
· Not recorded but disclosed if (1) reasonably possible and estimable or (2) probably but not reasonable estimable

· Note:  Litigation is probably the most often cited contingent liability in footnotes

Long-Term Liabilities

· Long-term debt:  Bonds payable, notes payable.  (Bonds also discussed in Chapter 10)
· Leases

· Accrued retirement benefits (not covered in this course)
· Deferred income taxes (not covered in this course, see Supplement B)
· Contingent Liabilities (Lawsuits, environmental obligations, and product warranties)
· Recorded if probably and estimable

· Not recorded but disclosed if (1) reasonably possible and estimable or (2) probably but not reasonable estimable

· Note:  Litigation is probably the most often cited contingent liability in footnotes

In addition, the chapter discusses PRESENT VALUE TECHNIQUES.  The most common use for present value techniques/computations in financial accounting are:
· CALCULATE THE PRESENT VALUE OF A KNOWN STREAM OF CASH FLOWS AT A STIPULATED DISCOUNT RATE.  Recall that in Chapter 8, these types of computations are necessary to test for long-lived asset impairment.
· SOLVE FOR THE INTEREST RATE WHEN THE MARKET VALUE OF A FINANCIAL INSTRUMENT IS KNOWN AND THE CASH FLOW PARAMETERS ARE KNOWN.  
· USE THE EFFECTIVE INTEREST RATE TO CALCULATE INTEREST EXPENSE FOR THE PERIOD.

	PV Tables, PV Calculators, Excel.  The text includes present value tables for students to use in computing present values.  However, students will find it most useful to use a financial calculator that computes present values, or use Excel to compute present values.  Students should know how to use present value tables, but you are allowed you to use your present value calculators and/or Excel to make present value related computations in homework, quizzes, and exams.  Sometimes, problems will simply provide you with the present value factors from the present value tables.  


Current Liabilities 
Current liabilities are obligations due within one year.  Current liabilities are used in liquidity measure computations, frequently paired with current assets.

Working capital = current assets – current liabilities 
Quick ratio = quick assets ÷ current liabilities)
Current ratio = current assets ÷ current liabilities (related ratio, see chapters 2 and 13).
Accounts Payable 
Accounts payable is the accepted name for trade accounts payable.  Reserve the account title accounts payable for the situation where a company has purchased inventory on credit from the supplier and is obligated pay according to invoice terms.  In rare instances, a company might finance the purchase of inventory with a trade note payable rather than accounts payable.  Accounts payable were discussed in Chapter 7.  
Payroll Liabilities

Anyone who has earned a paycheck knows that a large number of deductions are made by the employer.  The employer has an obligation to remit the amounts collected to the appropriate party:  FICA withheld (plus employer matching) and income taxes payable to the Federal government; income taxes payable to state, county, and city governments; charitable donations such as the United Way; other amounts withheld, such as defined contribution 401k plans or other types of savings plans.

Notes Payable 
Short-term notes payable are frequently used to borrow for short amounts of time.  Unless borrowed specifically to finance the acquisition of inventory (i.e., trade notes payable), notes payable are considered to be nontrade.  
In the Statement of Cash Flows, cash flows related to trade notes payable are operating activities, and cash flows related to nontrade notes payable are financing activities.  
Interest expense.  Interest expense and interest payable are recognized as incurred, and interest expense is computed using the formula I = P x R x T [interest expense = principal x rate (usually expressed in terms of a year or portion of a year)] x time (expressed in terms of a portion of a year)].
Current Portion of Long-Term Debt 
If all or a portion of long-term debt becomes due within one year, it is reclassified from long-term to current (short-term) liabilities and is reported as a current liability.  
Note:  the activity related to the current portion of long-term debt is classified on the statement of cash flows as a financing activity.
Deferred Revenues 
If cash is received before it is earned, deferred revenue is recorded.  Deferred revenue is shown as a liability, and these obligations are classified as current or long-term, depending on when they must be satisfied.  As revenue is earned, deferred revenue is decreased and revenue is recognized.

Contingent Liabilities 
Contingent liabilities are potential liabilities related to past events.  Contingent liabilities are contingent on some future event occurring.  Accountants classify contingent liabilities in one of three ways:

· Contingent liabilities recognized in financial statements

· Probable and Estimable
· Contingent liabilities not recognized in financial statements but reported in footnotes
· Probable but not Estimable
· Reasonably Possible and either estimable or not estimable
· Contingent liabilities neither recognized in financial statements nor reported in footnotes
· Remote and either estimable or not estimable
Considerable judgment and use of industry norms is used in applying these rules of thumb.  Most companies presenting GAAP based financial statements have a footnote entitled Commitments and Contingencies where contingent liabilities are discussed (e.g., see text B-25, Legal Proceedings and Claims, and C-28, Note 11—Commitments and Contingencies).  
A common contingent liability is a lawsuit, and another relates to situations where companies are contingently liability as guarantors.  
WARRANTY LIABILITIES (Not discussed in text, but students should understand them)
One common contingent liability is a warranty liability.  Warranty liabilities are not discussed in the text, but they are included in the notes because they are a common liability and managers should know how to account for them.  The liability is contingent because it depends upon a future event, filing of a warranty claim.  However, it is virtually certain that warranty claims will be filed, and most companies that sell products under warranty are able to estimate the amount of claims.

It is important under the matching principle that the warranty expense be matched with the sales in the period of the sale.  The primary way that warranties are estimated is as a “percent of sales.”  The percent is based upon past and current experience.  For example, assume that in the current year the Wendeln Co. had sales of $10,000,000 subject to 2 year warranty.  Further, based upon past experience, Wendeln estimates that warranty claims will be 5% of sales.  The current year journal entry to record warranty expense is as follows (note that the company would almost certainly make entries on a monthly basis):

	Warranty Expense
	500,000
	

	     Warranty Liability
	
	500,000

	10,000,000 x 5% = 500,000


	Transaction Analysis Review
· The increase in the liability results in an expense, and the liability increases:  debit warranty expense
· Warranty liability is a liability and it increases:  credit warranty liability.



Note that when warranty claims are paid, the following entry is made; assume $74,000 in claims.  To keep the example simple, we assume that the warranty claim is paid in cash.
	Warranty Liability
	74,000
	

	     Cash
	
	74,000


	Transaction Analysis Review 
· Warranty liability is a liability and it decreases:  debit warranty liability.
· The decrease in the liability is offset by a decrease in cash, which is an asset:  credit cash.


Note that no expense is recognized when warranty claims are paid.  

For this approach to be correct over time, the company needs to continually monitor the warranty claim experience and use the most current information to compute warranty expense.  Over time, the warranty liability may not represent the current amount of estimated future warranty claims.  Accordingly, although the percent of sales method is used, companies also routinely look at the magnitude of the year-end warranty liability as to the reasonableness of that amount.  

For example, assume that the Nordyke Co. uses the percent of sales method each month to record warranty expense.  At year-end, after the December warranty adjusting journal entry is made, the ending balance in the warranty liability account is $13,000,000.  The warranty claims department, in consultation with engineering, reviews all products under outstanding warranties and believes the best estimate of future warranty claims at December 31 is $12,600,000.  Based upon this estimate, the following adjusting journal entry would be made.  
	Warranty Liability
	400,000
	

	     Warranty Expense
	
	400,000

	13,000,000 – 12,600,000 = 400,000


	Transaction Analysis Review 
· Warranty liability is a liability and it decreases:  debit warranty liability.
· The decrease in the liability is offset by a decrease in warranty expense: credit warranty expense.  


Almost all problems that students are asked to solve require the use of the percent of sales approach.
Long-Term Liabilities 
Three primary long-term liabilities are notes payable, bonds payable, and leases payable.  Each of these represents a monetary liability (obligation), and present values are used extensively in computing and accounting for them.
Notes Payable

Long-term notes payable are used to finance a business.  In a basic note payable, a company borrows a set amount at a stipulated interest rate (the interest rate can be either fixed or variable).  The amount borrowed equals the repayment obligation, and companies make periodic interest and principal payments on the debt.

For example, assume that the Zike Co. borrowed $15,000,000 on January 1, 2014 under the following terms:  

· five year note matures on December 31, 2018; 

· principal is payable in annual installments of $3,000,000 on December 31 (first payment due December 31, 2014); 

· interest is paid annually on December 31; 

· the annual interest rate on the debt is 8% per annum 
Assume that Zike only makes annual adjusting journal entries to accrue interest expense (most companies would do this monthly, and some daily). 

The first thing to note is that the $15,000,000 is the present value of future cash flows.  This fact is not stressed in the textbook.  
The January 1, journal entry to record the loan is as follows:  

	January 1, 2014
	
	

	Cash
	15,000,000
	

	     Notes payable
	
	15,000,000


	Transaction Analysis Review 
· Cash is an asset account, and it increases:  debit cash.

· Notes payable is a liability account, and it increases:  credit notes payable.


The December 31 journal entry to record the principal and interest payments is as follows:

	December 31, 2014
	
	

	Interest expense (1) 
	1,200,000
	

	Notes payable
	3,000,000
	

	     Cash
	
	4,200,000

	(1)  $15,000,000 x 8% = $1,200,000.  

Note: in 2014, interest expense will be $12,000,000 x 8% = $960,000.  


	Transaction Analysis Review 

· Notes payable is a liability account, and it decreases:  debit notes payable.

· Interest expense is an expense account, and it increases:  debit interest expense.

· Cash is an asset account, and it decreases:  credit cash.


On the December 31, 2014 balance sheet, the following selected amounts would be shown

	Current Liabilities
	

	Current maturity of long-term notes payable (1)
	$3,000,000

	Interest payable
	0

	Noncurrent Liabilities
	

	Long-term notes payable
	$9,000,000

	(1) The amount due in one year on December 31, 2015


Change the facts.  If principal and interest were due January 1, 2015 rather than December 31, 2014, then the following December 31 year-end adjusting journal entry would be made:
	December 31, 2014
	
	

	Interest expense (1) 
	1,200,000
	

	     Interest payable
	
	1,200,000


	Transaction Analysis Review 

· Interest expense is an expense account, and it increases:  debit interest expense.

· Interest payable is a liability account, and it increases:  credit interest payable.


On the December 31, 2014 balance sheet, the following selected amounts would be shown

	Current Liabilities
	

	Current maturity of long-term notes payable (1)
	$3,000,000

	Interest payable
	1,200,000

	Noncurrent Liabilities
	

	Long-term notes payable
	$12,000,000

	(1) The amount due on January 1, 2015


The January 1, 2015 entry for payment is as follows:  

	January 1, 2015
	
	

	Interest payable 
	1,200,000
	

	Notes payable
	3,000,000
	

	     Cash
	
	4,200,000

	(1)  $15,000,000 x 8% = $1,200,000.  

Note: in 2015, interest expense will be $12,000,000 x 8% = $960,000.  


	Transaction Analysis Review 

· Notes payable is a liability account, and it decreases:  debit notes payable.

· Interest payable is a liability account, and it decreases:  debit interest payable.

· Cash is an asset account, and it decreases:  credit cash.


Computation of Interest Paid/Payable

The calculation of simple interest is as follows:
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a. Principal is the amount borrowed or loaned.

b. Interest Rate is the annual rate unless stated otherwise.

c. Time is the term of the loan in years or part of a year.

d. The formula for the computation of simple interest is the same for short-term and long-term notes payable. 

e. Usually any accrued interest is a current liability (depending on the terms of the loan agreement).

Bonds Payable
Accounting for bonds payable and notes payable are similar, with one major difference.  Frequently, the stated contractual interest rate attached to a bond is not the same rate as the market rate on the date of issuance.  This occurs because a company frequently has to announce an interest rate before its issuance date so that demand for the new offering can be measured, and market interest rates fluctuate daily.  Accordingly, the bonds are issued at a premium or discount to face value.  This situation is not discussed in Chapter 9.  Chapter 10 deals with bond liabilities and more complex examples.  Most note payables are recorded at face value because the stated interest rate is equal to the market interest rate.  
Lease Obligations.  

This Topic Will Not Be Tested, But IS Included Here For Students Who May Have Basic Questions About Leases.  A New Lease Standard is Expected in 2015.  
Many companies lease assets rather than purchase and finance them separately.  Many reasons exist for leasing versus purchasing.  However, one primary benefit to lessees is that the company might be able to use off-balance-sheet financing to acquire the assets.  
Accounting rules require a company to classify each lease as either an operating lease or a capital lease.  A lease is a capital lease if it meets one of four criteria (see text p. 465).  

· Ownership of the assets is transferred to the lessee at the end of the lease term.

· The lessee can purchase the asset at the end of the lease term at an amount that is substantially below its expected fair value.

· The lease term is ≥ 75% of the asset’s estimated useful economic life.

· The present value of the minimum lease payments of ≥ 90% of the estimated fair value of the asset when the lease is signed.

If any criterion is met, then the company must account for the lease as a capital lease, as if it purchased the asset and financed it with a note payable:  i.e., the lessee records an asset (leased asset) and a lease obligation (lease payments payable).  The asset is amortized (depreciated) and the lease obligation is accounted for like a note payable.
Most lessees, however, try to get operating lease status because under an operating lease the leased asset and lease obligation are not recorded.  Thus, the financing is off-balance-sheet.  Note that in order to obtain operating lease classification, the terms of the lease should be structured so that none of the four criteria are met.  

If a company has substantial capital and/or operating leases, then information about the leases is reported in footnotes.  For example, see text p. B-27 for the lease footnote of American Eagle Outfitters (AE).  Note that the future minimum rental commitment for AE for operating leases as of January 28, 2012 is $1,724,071,000, over 1.7 billion dollars.  Because the leases are operating leases, the lease commitments are not reflected on the balance sheet.  AE has achieved off-balance-sheet financing for those leases.  
	Note:  the FASB and IASB currently have a joint project that will substantially change lease accounting.  From the lessee perspective, the lessee will record as an asset all leases (unless the lease length is less than one year).  Essentially, operating lease treatment will disappear.  This accounting change would not happen until 2017 at the earliest, if both Boards approve the new accounting.  




How to Compute Present Value (Supplement)
The Supplement is an Important Part of the Chapter

The text uses present value tables to compute present value amounts.  One can also use a financial calculator or Excel, which both use the following present value terms:

N.   N refers to the number of compounding periods (interest payment periods).  

Pmt.  Pmt is the amount of periodic interest payments.

I.  I = market rate of interest.   

FV.  FV equals the lump sum made at the end of the note that is separate from the final periodic payment.  

PV.  PV represents the present value of the future principal and interest cash flows.  

If you use Excel, use the PV function and input these parameters.  If you know any four, you can compute the fifth:  
Example.  Assume that the Faulconer Co. borrowed $20,000,000 from the First National Bank.  The principal is due in 7 years, and annual interest of 7% is due at the end of each year.  

Assuming that the 7% interest rate reflects the market interest rate, then the present value is computed as follows:

N=7

I (market rate of interest) = 7

Payment = 20,000,000 x 7% contractual rate = 1,400,000

Future Value = 20,000,000

Present Value ==????? (solve for) = 20,000,000

The Excel syntax is:  =PV(0.07,7,1400000,20000000), which returns -20000000 as the present value.  [note, no commas in numbers]
Note that the present value equals the face value because the market and stated interest rates are the same.  In Chapter 10, we discuss situations when the two rates are not the same.  

To solve for the annuity payment, use the PMT function in Excel.  
Ratio Analysis

The accounts payable turnover ratio is computed as:

	Accounts Payable Turnover
	=
	Cost of Goods Sold

	
	
	Average Accounts Payable


Accounts payable turnover reports the number of times, on average, a company pays its trade creditors during the year.  
Average Age of Payables.  By dividing 365 by accounts payable turnover, we compute the number of days, on average, a company takes to pay its trade creditors.  For example, if accounts payable turnover is 14.2, the average number of days to pay its trade creditors is 365 ÷14.2 = 25.7 days.

Note that accounts payable turnover is an average across all creditors.  It does not indicate how long a company takes on average to pay a particular customer.  Recall that a company may be offered cash discount terms for prompt payment, such as 2/10, n/30.  Thus, a company may pay some creditors promptly in order to receive the purchase discount, but may wait longer to pay other creditors.  The accounts payable turnover ratio valuates effectiveness in managing payables; i.e., how quickly management is paying trade accounts.  A high ratio normally indicates that a company is paying its suppliers in a timely manner.  Caution:  the ratio is subject to manipulation, as managers can “catch up” on paying creditors at year-end to bring the ratio to an acceptable level.   
Working Capital is a liquidity measure:  current assets – current liabilities.  

Current Ratio (Chapters 2 and Chapter 13)

The current ratio is not discussed in Chapter 9; however, because Chapter 9 discusses currently liabilities, it is useful to review it.  It was covered in chapter 2 and computed as:

	Current Ratio
	=
	Current Assets

	
	
	Current Liabilities


This ratio calculates the amount of current assets per dollar of current liabilities.  It is an indication of the company’s ability to meets its short-term liquid obligations.  This ratio was introduced in Chapter 2 and will be covered in Chapter 13.  This ratio should be part of a student’s vocabulary, and you are expected to know it for problems, quizzes, and exams.  
The quick ratio is mentioned in chapter 9, but not defined or discussed.

The quick ratio is another measure of liquidity.

	Quick Ratio
	=
	Cash + Marketable Securities + Net Receivables

	
	
	Current Liabilities


The numerator represents quick assets.  The quick ratio will be smaller than the current ratio.
Definition of 'Quick Assets' http://www.investopedia.com/terms/q/quickassets.asp 
Anything having commercial or exchange value that can easily be converted into cash, or that is already in cash form. Quick assets are the highly liquid assets held by a company, including cash, marketable securities and accounts receivable.
Statement of Cash Flows
The statement of cash flows is affected by two major items in the chapter.
· Current (Operational) Liabilities

· Accounts payable

· Accrued (operational) liabilities (or accrued expenses payable)
· Interest paid

· Long-Term Liabilities

· Issuance of debt

· Repurchase of debt

Here is a mental rule that you can help to remember how the adjustments to operational current assets and operational current liabilities are made.  Memorize this heuristic.

· If the increase or decrease in the operational current asset or current liability account was a debit during the year (e.g., increase in current asset or decrease in current liability), then think of the needed offset as a credit to (a reduction in) cash.  This is the case in the example above.  

· If the increase or decrease in the operational current asset or current liability account was a credit during the year (e.g., decrease in current asset or increase in current liability), then think of the needed offset as a debit to (an addition to) cash.  

The adjustments in the statement of cash flows are as follows:

Operating Activities

Net Income

Add (Deduct) (1)

Increases in operational current liabilities


(Decreases in operational current liabilities)

Financing Activities

Issuance of long-term debt 

(Payments on long-term debt)

(1) Note:  recall that interest paid is treated as an operating activity.  Thus, the adjustment in the operating activities section is for the change in interest payable, which adjusts from the accrual amount interest expense to the cash flow amount interest paid.  
As an example

	Cash Flow From Operating Activities
	

	Net Income
	

	Adjustments:  
	

	Increase in accounts payable
	12,000,000 

	Decrease in inventory
	1,250,000 

	Decrease in receivables 
	60,000 

	Decrease in accrued liabilities  
	(125,000)

	
	

	Net cash flow from operating activities
	

	Cash Flow From Financing Activities
	

	Issued bonds
	10,000,000 

	Retirement of bonds
	(22,000,000)

	
	

	Net cash flow from financing activities
	


CHAPTER SUMMARY (From Textbook Authors)
Liabilities are obligations of either a known or estimated amount. Detailed information about the liabilities of an entity is important to many decision makers, whether internal or external, to the enterprise, because liabilities represent claims against the resources of an entity. The existence and amount of liabilities sometimes are easy to conceal from outsiders. The accounting model and the verification by an independent CPA are the best assurances that all liabilities are disclosed.

Current liabilities are short-term obligations that will be paid within the coming year or the normal operating cycle of the business, whichever is longer. All other liabilities (except contingent liabilities) are reported as long-term liabilities. A contingent liability is a potential claim due to some event or transaction that has happened and may lead to a liability, but whether it will materialize as an effective liability is not certain because it depends on some future event or transaction. At the end of the accounting period, a contingent liability must be recorded (as a debit to a loss account and a credit to a liability account) if (a) it is probable that a loss will occur and (b) if the amount of the loss can be reasonably estimated. Contingent liabilities that are reasonably possible must be disclosed in the notes to the financial statements.

The current ratio and accounts payable turnover ratio are liquidity ratios which provides an indication of whether a company can pay its current obligations as they come due.

Often, future and present value concepts must be applied in accounting for liabilities. These concepts focus on the time value of money (i.e., interest). Future value is the amount that a principal amount will increase in the future due to compound interest. Present value is the amount that a future principal amount is worth today. It is computed by a process of compounding or discounting future cash flows. Future and present values are related to (a) a single amount or (b) a series of equal periodic amounts (called annuities). Typical applications of future and present values are to create a fund, determine the cost of an asset, account for notes payable, and account for installment debts and receivables.

CHAPTER LEARNING OBJECTIVES (From Textbook Authors)

	Learning Objectives
	PowerPoint® Slides

	1.
Define, measure, and report current liabilities.
	9-1 through 9-4

	2.
Use the quick ratio.
	9-5

	3.
Analyze the accounts payable turnover ratio.
	9-6 through 9-9

	4.
Report notes payable and explain the time value of money.
	9-10 through 9-13

	5.
Report contingent liabilities.
	9-14 through 9-15

	6.
Explain the importance of changes in working capital and its impact on cash flows.
	9-16

	7.
Report long-term liabilities.
	9-17 through 9-21

	8.
Compute present values.
	9-22 through 9-28

	9.
Apply present value concepts to liabilities.
	9-29 through 9-31

	Chapter Supplement A: Present value computations using Excel
	9-32

	Chapter Supplement B: Deferred taxes
	9-33

	Chapter Supplement C: Future value concepts
	9-34 through 9-37


CHAPTER TAKE-AWAYS
After studying this chapter, you should be able to:

9-1 Define, measure, and report current liabilities. p. 000

9-2 Analyze the accounts payable turnover ratio. p. 000

9-3 Report notes payable and explain the time value of money. p. 000

9-4 Report contingent liabilities. p. 000

9-5 Explain the importance of working capital and its impact

on cash flows. p. 000

9-6 Report long-term liabilities. p. 000

9-7 Compute present values. p. 000

9-8 Apply present value concepts to liabilities. p. 000
1.
Define, measure, and report liabilities.

Strictly speaking, accountants define liabilities as probable future sacrifices of economic benefits that arise from past transactions. They are classified on the balance sheet as either current or long-term. Current liabilities are short-term obligations that will be paid within the current operating cycle of the business or within one year of the balance sheet date, whichever is longer. Long-term liabilities are all obligations not classified as current.

2.
Use the quick ratio.

The quick ratio is a comparison of quick assets and current liabilities. Analysts use this ratio to assess the liquidity of a company.

3.
Analyze the accounts payable turnover ratio.

This ratio is computed by dividing cost of goods sold by accounts payable. It shows how quickly management is paying its trade creditors and is considered to be a measure of liquidity.

4.
 Report notes payable and explain the time value of money.

A note payable specifies the amount borrowed, when it must be repaid, and the interest rate associated with the debt. Accountants must report the debt and the interest as it accrues. The time value of money refers to the fact that interest accrues on borrowed money with the passage of time.

5.
Report contingent liabilities.

A contingent liability is a potential liability that has arisen as the result of a past event. Such liabilities are disclosed in a note if the obligation is reasonably possible.

6.
 Explain the importance of working capital and its impact on cash flows.

Working capital is used to fund the operating activities of a business. Changes in working capital accounts affect the statement of cash flows. Cash flows from operating activities are increased by decreases in current assets (other than cash) or increases in current liabilities. Cash flows from operating activities are decreased by increases in current assets (other than cash) or decreases in current liabilities.


7.
Report long-term liabilities.

Usually, long-term liabilities will be paid more than one year in the future. Accounting for long-term debt is based on the same concepts used in accounting for short-term debt.

8.
Compute present values.

The present value concept is based on the time value of money. Simply stated, a dollar to be received in the future is worth less than a dollar available today (present value). This concept can be applied either to a single payment or multiple payments called annuities. Either tables or Excel can be used to determine present values.

9.
Apply present value concepts to liabilities.

Accountants use present value concepts to determine the reported amounts of liabilities. A liability involves the payment of some amount at a future date. The reported liability is not the amount of the future payment. Instead, the liability is reported at the amount of the present value of the future payment.

Appendix to Chapter 9 Instructor Notes

Various Ways of Recording Initial Transactions – Record Keeping Mechanics

Note:  the information in this section is not stressed in the textbook, but it does related to the way that transactions are recorded in practice and related adjusting journal entries.  Most of the transactions affect current asset and/or current liabilities.  
Generally, the text tries to reflect the best way to record an initial transaction.  For some, smaller companies that have few transactions or do not need interim financial statements, the accountant may record the revenue or expense originally and then at year-end use adjusting journal entries to adjust the balance sheet to it being correct.  

For example, let’s assume the rent for the Smith Co. is $600 per month payable to the Jones Co., and on November 1 Smith prepaid rent for 5 months (Nov, Dec, Jan, Feb, Mar).  Let’s examine three ways a small business owner might record the transaction.  

Smith Accounting

1.  Best Accounting

This is the way that the entry should be recorded.

 

November 1
	Prepaid rent
	3,000
	

	     Cash
	
	3,000


	Transaction Analysis Review 

· Prepaid rent is an asset, and it increased:  debit prepaid rent.

· Cash is an asset, and it decreases:  credit cash.  


The November 30 adjusting journal entry (and the entry for the remaining months) should be: 

	Rent expense
	600
	

	     Prepaid rent
	
	600


	Transaction Analysis Review 

· Rent expense is an expense, and it increases:  debit rent expense.  

· Prepaid rent is an asset, and it decreased:  credit prepaid rent.


The same adjusting journal entry would be made at December 31.  At year end, the December 31 financial statements reflect:

Prepaid rent:
$1,800

Rent expense
$1,200

2.  Record as Revenue/Expense and adjust balance sheet at year-end.

Alternatively, let’s assume that Smith only makes adjusting journals once a year and uses revenue and expense accounts throughout the year related to revenue/expense items.  Then, the following journal entries might be made.  Note:  I would not consider this to be the best (or correct) accounting (see #1). 

	Rent expense
	3,000
	

	     Cash
	
	3,000


No November adjusting journal entry because adjusting journal entries are made only once per year.  The December 31 adjusting journal entry would be:  

	Prepaid rent
	1,800
	

	     Rent expense
	
	1,800


 3 months @ $600 per month = $1,800.  

	Transaction Analysis Review 

· Prepaid rent is an asset, and it increased because it must be recognized:  debit prepaid rent.

· Rent expense is an expense, and it decreases:  credit rent expense.  


At year end, the December 31 financial statements reflect:

Prepaid rent:
$1,800

Rent expense
$1,200

3.  Record on November 1, in a way that would require no December 31 adjusting entry.

This may seem to be a weird process, but it is conceivable that an accountant might record the transaction is a way that would require no year-end adjusting entry, but the annual financial statements would be correct.  On November 1, the following entry would be made

	Rent expense (1)
	1,200
	

	Prepaid rent (2)
	1,800
	

	     Cash
	
	3,000


(1) Reflects two month’s rent. November – December

(2) Reflects three month’s rent, January – March

No November or December adjusting journal entry is required.  

At year end, the December 31 financial statements reflect:

Prepaid rent:
$1,800

Rent expense
$1,200

Jones Accounting

1.  Best Accounting

This is the way that the entry should be recorded.  

 

November 1
	Cash
	3,000
	

	     Unearned rent income (1)
	
	3,000


(1) Reported with the current liabilities

	Transaction Analysis Review 

· Cash is an asset, and it increased:  debit cash.

· Unearned rent revenue is a deferred revenue account, which is reported as a liability, and it increased:  credit unearned rent income.  


The November 30 journal entry (and the entry for the remaining months) should be: 

	Unearned rent income (2)
	600
	

	     Rent Income (3)
	
	600


(2) Also, account could be called unearned rent revenue. 

(3) Also, accounts could be called rent revenue.

	Transaction Analysis Review 

· Unearned rent income is a deferred revenue account and it is reported as a liability and it decreased:  debit unearned rent income.

· Rent income is a revenue account, and it increased:  credit rent income.  


The same adjusting journal entry would be made at December 31.

At year end, the December 31 financial statements reflect:

Unearned rent income:
$1,800

Rent income


$1,200

2.  Record as Revenue/Expense and adjust balance sheet at year-end.

Alternatively, let’s assume that Jones only make adjusting journals once a year and uses revenue and expense accounts throughout the year related to revenue/expense items.  Then, the following journal entries might be made.  Note:  I would not consider this to be the best (or correct) accounting (see #1). 

	Cash
	3,000
	

	     Rent income
	
	3,000


	Transaction Analysis Review 

· Cash is an asset account, and it increased:  debit cash.

· The entire amount is reported as rent income, a revenue account, and it increased:  credit rent income.  


No November adjusting journal entry.  The December 31 adjusting journal entry would be:  

	Rent income
	1,800
	

	     Unearned rent income
	
	1,800


 3 months @ $600 per month = $1,800.  

	Transaction Analysis Review 

· Rent income is a revenue account, but it needed to be reduced:  debit rent income.

· Unearned rent income is a deferred revenue account, and it needs to be recognized:  credit unearned rent income.  


At year end, the December 31 financial statements reflect:

Unearned rent income:
$1,800

Rent income


$1,200

3.  Record on November 1, in a way that would require no December 31 adjusting entry.

This may seem to be a weird process, but it is conceivable that an accountant might record the transaction is a way that would require no year-end adjusting entry, but the annual financial statements would be correct.  

	Cash
	3,000
	

	     Rent income
	
	1,200

	     Unearned rent income
	
	1,800


No November or December adjusting journal entry is required.  

At year end, the December 31 financial statements reflect:

Unearned rent income:
$1,800

Rent income


$1,200

	TAKEAWAY FROM THIS EXAMPLE PROBLEM

The example problem was worked three ways, each based upon different processes within the companies.  However, no matter how the transactions were originally recorded, in the end the December 31 financial statements were the same:
     Smith:  Prepaid rent = $1,800; Rent expense = $1,200

     Jones:   Unearned rent income = $1,800; Rent income = $1,200.  

ALSO, FOR BOTH COMPANIES, EXAMPLE 1 IS THE BEST AND PREFERRED ACCOUNTING
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